Subject — Math
Class — VI FA1

Maximum Marks: 20 Time allowed: 1 Hour

General Instructions:
This question paper contains 8 questions and 1 printed page.
Write the answers neatly and legibly.
All the questions are compulsory.
Marks for each question are indicated against it.

Write the Roman numeral for 489.
Write the expression for difference of hundred and eighty divided by seventeen.

Write 56514320 in words according to the Indian System and the International
System of numeration.

Estimate 53897 + 278953

Take the digits 2, 0, 8 and 6. Make any four numbers with 7 digits. Arrange them in
the descending order.

Multiply 7528 by 1565 and express the product in the expanded form.

Estimate 1, 99, 999 — 99, 999 to the nearest lakh.

Medicine is packed in boxes by the school to be donated to an old age home, each
weighing 4Kg 500g. How many such boxes can be loaded in a van which cannot

carry beyond 800 Kg? Why should we use CNG vehicles? Give a reason.

What is one million in the Indian System of numeration and one crore in the
International System of numeration?

Using any 5 different digits, make a number with digit 9 at ten thousands place.



